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Cultural, Social and Technical Option in Secondary V 

APPENDIX: EXAMPLES OF FINANCIAL MATHEMATICS PROBLEMS 

 
 
Excerpts from the Québec Education Program (QEP), Chapter 6, p. 68 

 

Although this is implied by the rules presented in the program, it is important to specify that they involve interest paid out once per period, 
such as annual interest (paid out or compounded once a year) or monthly interest (paid out or compounded once a month). The idea is to 

avoid using the formula 𝐶𝑛 = 𝐶0 (1 +
𝑖

𝑡
)

𝑛𝑡

. However, this formula could be one of the avenues of exploration to be pursued with the 

students. 
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Examples of financial problems that students could be asked to solve: 

1. $50 000 is invested for 5 years at an interest 
rate of 6% compounded every year.  

 
Value of the investment after 5 years: 
 
n = 5  

𝐶𝑛 = 𝐶0(1 + 𝑖)𝑛 = 50 000(1 + 0.06)5 

= 50 000(1.06)5 

= $66 911.28 

2. $50 000 is invested for 3 months at an annual 
compound interest rate of 6%. 

 
Value of the investment after 3 months: 

 
n = 0.25 (since 3 months correspond to a quarter 

[0.25] of a year) 
 

𝐶𝑛 = 𝐶0(1 + 𝑖)𝑛 = 50 000(1 + 0.06)0.25

= 50 000(1.06)0.25

= $50 733.69 

3. $50 000 is invested for 3 months at a monthly 
compound rate of 0.6%. 

 
Value of the investment after 3 months: 
 
n = 3  
 

𝐶𝑛 = 𝐶0(1 + 𝑖)𝑛 = 50 000(1 + 0.006)3

= 50 000(1.006)3

= $50 905.41 

4. $5 000 is invested for 10 years at a monthly 
compound interest rate of 0.1%. 

Value of the investment after 10 years: 
 

n = 120 (since the interest is paid out every 
month, we must calculate how many months 
there are in 10 years: there are 12 months 
per year and therefore 120 months in 10 
years)  

 

𝐶𝑛 = 𝐶0(1 + 𝑖)𝑛 = 5 000(1 + 0.001)120

= 5 000(1.001)120

= $5 637.15 

5. $5 000 is invested for 10 years at an interest 
rate of 1% compounded every 3 months. 

 
Value of the investment after 10 years: 

 
n = 40 (since the interest is paid out every 

3 months, we must calculate how many 
3-month periods there are in 10 years: there 
are four 3-month periods per year and 
therefore 40 periods in 10 years) 

 

𝐶𝑛 = 𝐶0(1 + 𝑖)𝑛 = 5 000(1 + 0.01)40

= 5 000(1.01)40

= $7 444.32 

6. $5 000 is invested for 10 years at an interest 
rate of 6% compounded every 2 years. 

 
Value of the investment after 10 years: 

 
n = 5 (since the interest is paid out every 2 years, 

we must calculate how many 2-year periods 
there are in 10 years: there are five 2-year 
periods) 

 

𝐶𝑛 = 𝐶0(1 + 𝑖)𝑛 = 5 000(1 + 0.06)5

= 5 000(1.06)5

= $6 691.13 

The formula 𝑪𝒏 = 𝑪𝟎(𝟏 + 𝒊)𝒏 applies only if the interest rate and the term of the investment are expressed in the same unit of time 
as the compounding period. For example, if a financial institution and an investor agree that the interest is compounded at the end 
of each month, the formula will apply only if the interest rate is monthly and the term of the investment is expressed in months. 


